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1 100kN/m#E#BZ % - -~ - —|3mEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 000 ~ 5.03 62.72 | #n st | 000 ~ 503 | 1.98 9.98 zh s 1.00| 500 ~ 6.00 62.72 | #n st | 5.00 ~ 6.00| 1.98 9.98
9 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 0.00 ~ 5.65 70.62 | #hlist | 000 ~ 565 | 1.97 9.98 zh s 1.00| 500 ~ 7.00 70.62 | =hlist | 5.00 ~ 7.00| 1.97 9.98
3 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 0.00 ~ 6.49 81.75 | ZnList | 000 ~ 6.49 | 1.88 9.50 zhs 1.00| 500 ~ 8.00 81.75 | Z#nList | 500 ~ 8.00| 1.88 9.50
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ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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